
- Определение Фурье 
  

- Обратное Фурье  

- Определение дельта-
функции 

 

- Линейность  

1 Обратимость  

2 Симметрия  

3 Инверсия  

4 Сопряжение  

5 Подобие  

6 Смещение (по времени и 
по частоте) 

 

7 Факторизация  

8 Модуляция  

9 
Сохранение 

действительности и 
четности 

 

10 Дифференцирование  
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11 … несколько раз  

12 Оператор Лапласа  

13 Интегрирование  

14 Унитарность  

15 Равенство Парсеваля  

16 Теорема о свертке  

17 … и наоборот  

18 Теорема об 
автокорреляции 

 

19 … и наоборот  

- Фильтрующее свойство 
дельта-функции 

 

20 Четность дельта-функции  

21 Масштабирование 
аргумента дельта-функции 

 

22 Фурье-образ дельта-
функции 
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